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mx +cx +kx = F (1) F(t)=F(t+r)

F(t) = General Periodic Force
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a
x(t) =—=+a, cos(wt) + a, cos(Qwt) + a, cos(3mt) + -+

+ b, sin(wt) + b, sin(2wt) + b, sin(3wt) +...

T
a, = zJx(r)cos(na)r‘)dr
T 0

T
b, = %j x(1)sm(nwt)dt
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2] b, == x 1) si 1) dt
a, =?jx(f)COS(n(uf)df no_ ?Il( )Sln(na) )
0
0

0 for m#=n T 0 for m#n

jcos(mmr)cos(nmr) = T
> form=n#0

T

f sin(mer)sm(not) = T
0 — form=n#0 0

T
_[ sin(mat)cos(nwt) =0
0



S5 gliio (59 99 4 (13T 4> 3 S iy Gl

_ 143,99 (S w0 (5 900k

4 . 4 . 4 . 4 .
x(t)=+—sm(ot)+ —simm3wt)+ —smn(Sot)+ —sin(7ot) + -
/4 3 Sn 7 i
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x(t) =+ isin((oz‘) + isi11(3(o1‘) = isin(5(of) + isi11(7(ol‘) + e

T 3 Sn 1
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(%)

\/(1—;9)2 +(227)
¢ =tan" ( 12_5:2 ]

[l =

mjé-l—cfc+/cv=F(t)

F(t)= “o + > a, cos(nwt)+> b, sin(not)

2 n=l1 n=1

T

a =%IF(r)cos(n(or)dr n=0,1,2,3...
0
2 T

b, =?J.F(r)sin(n(or)dr n=0,1,2,3..
0

mx + cx + kx =ﬁ+ian cos (naot ) +ibﬁ sin (naot )

n=l1 n=l1
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mx + cx + kx = —+Zan cos (nat ) +Zb sin (nar)
n=l n=l
. ; a a
my+cx+kx =— _ 3 XS.S:_O
2 2k

) ) a/)
M3+ cx+hx =) a, 008 (N0 e— X = > ( k

Bl o \/(l—nzrz )2 +(2Q’nr)2

(0

mx+cx+ kx = Zb SIn n(of)— Xﬁ:z

n=l n=l \/(l—nzrz )2 +(2§'nr)2
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mx + cx + kx :&-l—ian cos(na)r)-i-ib” sin (naot )

oo %)

2 n=l1 n=1

cos (nat—¢,)+...

n=l \/(1—1121‘3)3 +(2§nr)2

%)

=) sin (not — ¢,

n=1 \/(1 —nzrl)2 +(2§m')3

y =tan1[ 2¢ nr J

l—nr
d>g5
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[
J =10 kg-m’ [ =1m x(0)=0 F =10x
e ) k= 4000 ¥ X(0)=0 T =1 sec
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